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An Introduction to Sanskrit : Unit - I
M. R. Dwarakanath

%) T (Sloka)

g e | T8 T R | 9 di ek |
IRy A1 fafgerer

TS (Word decomposition)

TE Al 376 | W A YR | W d R |
ISt A sTeftan eReg T fafgwee Il

31 (Meaning)

Together ( Hg ) let it protect ( 3Aq ) the two of us
(:?f ). Together ( ©% ) let it bestow enjoyment
(Y] ) on us two (q\f). Together (T8 ) let us two
strive (Eh_{_olﬁl%) valiantly (Eﬁ?ﬁ ). We two | ﬁxf) let

become ( 3K]) brilliant (%ﬁlﬁa ) in studies
( 33[‘5]1311) and never ( Hl ) may we two quarrel

(FOI@SHEI% ). [All the five verbs in this sloka are in
the Imperative mood, which is also used in prayer]

3) Y& SN (Vocabulary)
3-37) go<: (Nouns, Adjectives, etc.)
AT (Pronouns):

W:, 3™ | This (m) |¥@: All (m)
wIsd | This (f) | @& All (f)
Tq,58 | This (n) |¥eM All (n)
7AW | Who(m) |®:® & | Who?(m)
AMAM: | Who(f) [T & | Who?(f)
I, 4, A | Which(n) | T, 1M | Which?(n)

The first who/which is not interrogative, as in
the sentence "He who laughs, lasts”. The second
who/which is interrogative. There are 3 forms in
each category corresponding to singular, dual and
plural numbers respectively.

: (Other Nouns etc.)

R) THEU (Conversation)

EANTAH Welcome

GHHITH Good morning

3 T g This is my son
ERRERCEl This is my daughter
T i w2 What grade are you in?
3HeH TEHRT UM |1 am in the fifth grade
HRSHAY 93 oo | I suppose, you study Sanskrit
?FIW\'CIBT&T Yes, I study

qd MeA A e Where is your school?
TAGHRA HIY 3R | It is near the post office
@?ﬁg i) How far is it?

3a It is right here

T H Th SR %% | Then, please do me a favor
oI wIA] Please tell

9 TAGIH_ A Tomorrow, can you
ﬁi‘g{ R a1 show me the post office?
HUCEREe SNT=3IM | 1l arrive at 10:15

SISl
LSS Lion HhI: Crocodile
RRT: Hare HUgh: Frog
Y Snake fen: Scorpion
. Son REll Daughter
oo Father Al Mother
TRreren: Teacher | S Student
RSIRIRS: Ocean Bl River
hIER: Lake qaeHT: Pond
9TH Forest q&: Tree
RiGH Yellow BRd Green
v Good EARSK] Bad
qaeul Young ST Old

3-%) fde=M: (Verbs) : The roots and (stems)
of a few more Sanskrit verbs are listed below.

g (31Q) |to eat Y (319) |to be
39 (379) | protect IH( ) burn
&1 (&) | bear e ()| play




¥) TS I (Simple Sentences)

TI\_{ (‘Tﬁ) roar RS (ﬂé]) hide ik WE% Water flows

Sire (Sf1e)| live T (fae) drink R _3T=F<d Water flowed
(M) protect | Y (Y) |nourish el @R Two soldiers hurry
k) (9) |float RS (Eﬁ‘i‘l) know BT m Two soldiers hurried
Y (9) |be IH (T=9) |control T o= Ministers speak
¥ (F#A) | fight T (TA) |grow TAT: AN Ministers spoke
¥ (JM) | calm 1%5@\ (fo@) | write o ?@ You doubt

foR (foRT) |enter | TR (FF) |touch o SRIg: You doubted

g (W) [move T (W) throb BEll SISO You two shine
3-3) FFFUCH (Indeclinables) W STATSIIR You two shone

Y Starting qd: Therefore ?:E:[ FE You [pl.) tremble
37 Below ] Above T4 HAhHEIH You (pl.) trembled
ofx If ® Then HeH TSt I worship

EE] Where GEI There STeH ki I worshipped

™ Only 1 Also SUCIGY R We two benefit

SCI HSHER | We two benefited

We rejoice

We rejoiced

T4 Sl The king conquers
9z SASAq The king conquered
o =i The pupil salutes
o 3 The student saluted
qroll &d: Two hands grasp
qroft HAUBAH, Two hands grasped
ERIHEEE People speak

STl A People spoke

3RF: et Enemies torment
A 3?‘11'3?11 Enemies tormented
o e You sit

© sHie: You sat

You two play

You two played

You (pl) deserve

You (pl.) deserved

3TeH, RCit] I study

Y 3USH I studied
mﬁwaz We two play
SCIE i We two played
oY foam: We write

99Hq i@ We wrote

Each of the above sentences has just two
words; the first represents the agent of the
action (noun) and the second the action (verb).
These sentences have been paired to show the
usage of the present and past tenses. The
sentences cover the 3 persons, the 3 numbers
and the 2 padas. The past tense used here is
one of 3 past tenses employed in Sanskrit; it is
the Imperfect Past tense.

4) EF4: Sandhi

L—37) \?PELF[&H: Vowel Sandhi

4-31-3) T F g T

In unit-1, we discussed the union of two
similar vowel sounds. Now we consider two
dissimilar vowel sounds coming together. If
the 1%t vowel is 3(3T), we have the following
possibilities:

A + 3(3) =T

A + () = A

AR + R(FK) = W

A + & = 3G



The above constitute 701 T because q, aq , SN,
3} are the TV of §, 3, &, 2 respectively. Also,
(S + YT =T

A(3M) + M) = 3

The above two rules constitute qﬂ‘g Y. In all
these 3 sandhis the two vowels merge to one,
resulting in a new vowel sound. Some examples:
W TS = W | T - T | e $9
~TRY | B S = SR | Th S = T |
e 3ChH = TEIehd | el /Y = S | 7al
RUM: = HEUM: | 37 W = I | Hal S
- TR | ¥ WEd: = Rea: | g e =
e |

4-31-3) IO G
In this group of sandhis the 1% vowel is anything

other than 31(3M) and the 2° vowel is not similar

to the 1%. In this case, the 1% vowel is replaced

by its corresponding semi-vowel and the 2%
vowel remains intact.

3(¥) +dissimilar A = g +dissimilar 39
3(>) +dissimilar 9 = 9 +dissimilar 39
F(F) +dissimilar 3 = { +dissimilar 39
% +dissimilar 39 = @ +dissimilar 3,
Some examples:

Y e = TR | B oRg = T |
FHHO T = wHUSE | 3T B = el | 3T
¥ o = AR | WY T = W |
g il = =i |

When the 1t vowel is U, Q, ?Fl‘T, 3 and is
followed by a dissimilar vowel other than 3,
the former vowel is replaced by 3,39, 31,3
respectively. This follows from the observation
H+ 3 =0 3H+T = 1ietc. and application
of A + 3 = 3.

Some examples:
830 - gRRE | 1 a7y - Taeg | BT 5 - gl

4-31-3) B (YE&9) Y
When U or 3 is followed by 3, the 3 is
dropped and the symbol S is substituted to

denote the missing 3. It is called the JIUE.
Some examples:

S SN - SHSHMH | d STRET - dsHRR |
fooal afer — foomse |

We will conclude the discussion of vowel
sandhis at this point. There are additional
vowel sandhi rules, to which we will return
later.

&) ﬁ@?ﬁc@_{”ﬂ{ Verbs - Conjugation
In unit-1, we learned that Sanskrit verbs belong

to one of 3 padas - REHTE, ST, or SHITE.
The origin of the padas is in the recipient of

the fruit of the action implied by the verb. If
the fruit of the action accrues to the agent of
the action (Eh_ci) then the root is in 3 TE. If
it accrues to someone other than the agent of
the action, then it is T Ua. If it can accrue
to either, then it is 34J YUg. However, this subtle
distinction is rarely maintained; instead Sanskrit
verbal roots are understood to belong to one of the
three padas. Indeed, Panini has classified each root
as belonging to one of the 3 padas.

§—31) 3TRIH ’ff &€ - Imperfect Past Tense

This is one of 3 past tenses used in Sanskrit.
The Sanskrit term implies the past is not of
today. However, this tense is used commonly
without adhering to the injunction of not being
today. This tense uses both a prefix and a
suffix. The prefix is always 3. The
terminations of the past tense for TEHTE
(341?‘4%1"1?() roots are given below. They do not
go directly to the root but to the stem.

RO (AEITR) e Id B e

Th o= | fg a=m
| qes | () | (3Am) | 3 (W)
HeH e (§ (o) | 99 (3UM) |4 (&)
SHTEY | (3)| T (k) | (FR)

ERCER]




Exercises

1. Combine the following according to rules
of |

a9 9 - Hel 3T — 99 g — Th Th — 9«
FE: - gl 3 - 3 3T - < S -
Te TR - hq S - 3 A |

2. Do T&=% for the following words:

Stz - TR - Wl - S - R -
TRIRIEH - Yoo — e - asafem |
Diphthongs and semi-vowels are potential

places for UGTC!

3. Change the tense in the following sentenses
- present to past or past to present.

TH: STERAY Thief stole
wiseh feTera: Two girls love

99y HAgdH We called (invited)
T ST Kings censured
JIq_ AT<EIH You saluted

WF‘W@ You are born
31: TSR
ES| HYd:
3T 3Tdrele
378H Y31

R

A priest offered oblation
Two sages let go

We two tried

I read

You two speak

Sanskrit Crossword #2
(One syllable per box)

Clues Across:

1 You go. Also Cloud

4 Elephant

5 Naming ceremony

6 Modesty, discipline

8 Or

10 He wins or conquers

11 Ultimate, chief (fem.)

12  Foot, one line of a stanza
13 A town

Clues Down:

2
3
4
6
7
8
9

Vishnu - Exciter of people
Crocodile

Lord of the Ganas

Request

Head of a house, Vedic sacrificer
Transgress

Benares

Solutions to Exercises from Unit -1

1. TS | TEed: | Seed | U | RH |
foqor | Uk | o 1

2. o A | T TS | TH SR | Y ISR
) 1 T« B - B = -
SUET | TR S

3. T Al | Sl Fed: | e S | 3
fager | o i | s1eey: TSl | B e |
3 fse: | 3Rq YOIH | gam e i

4. Solution to Crossword #1 :

Q HE | fafr |y foemuret | & A | ¢ Wi

| Qo fiftR 1 22 fo/&IT 1 83 BT | 83 TAST I R

T | 3 =IE | ¥ fGdsf | g A | e

FAR | ¢ RGN | R & I

Errata:

In Unit-1, page-26: &4: - tiger, ¥ (El\T‘SD - to
proclaim. a1 should read &1, and A< should
read H< Page 27: ek TSI - nose smells.




